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PIANTA PIANO TERRA

in Scala 1:100

PIANTA PIANO INTERRATO

in Scala 1:100
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POZZO-LUCE
mq 5,82
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mq 0,95

SEZIONE X-X

in Scala 1:100

SEZIONE Y-Y

in Scala 1:100
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PIANTA COPERTURA

in Scala 1:100
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SUPERFICIE

1)  2.95 x 1.00   =                 mq     2.95
     12.05 x 9.50 =                 mq  114.48
     6.50 x 3.20   =                 mq   20.80

                 Sup. Totale =  MQ 251.33

VOLUME

1)  MQ   138.23 x 2.95 =    MC    407.78

2)  MQ     38.97 x 2.20 =    MC      85.73

3)  MQ     26.44 x 2.20 =    MC      58.17

4)  MQ       6.62 x 3.60 =    MC     23.83

6)  MQ       8,70 x 2.24 =    MC     19,49

FUORI TERRA

1.00

2)  6.55 x 5.95   =                 mq   38.97

3)  3.75 x 7.05   =                 mq   26.44

4)  2.65 x 2.50   =                 mq     6.622.07

6)  1.13 x 7.70   =                 mq     8.70

(2.07+2.60) x 10.65/2  =  mq   24.87

                 Vol. Totale =    MC    603,85

                 VOL. TOTALE =    MC    603,85 < 606,39

2.50

3
.0

0

5

5)  2.50 x 3.00   =                 mq     7.50

5)  MQ       7.50 x 1.18 =    MC       8.85

CALCOLI PLANOVOLUMETRICI
1
0
.6

5

di cui:

- MC 584,36 (ABITAZIONE)

- MC   19,49 (PORTICO)

Viviana Valoroso
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